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YEAR:S'MATHEMATICS .

_ PYTHAGORAS WORD PrROBLEMS

12. A rectangle 1s 16 eI long and 12- cm wide. Calculate the lencth of the dlagonal-
of the rectangle.

13. Calculate the length of a diagonal of a square of side 3 cm correct to one
deczmal place. ;

14. A metal brace 35 cm long is screwed mto place so that

35 em

one end is 21 cin from a wall. How far up tﬁe Wa}i does &
the brace reach. :

15. An 8 meire ladder reaches 75. metres up a brick wall.
How far is the foot of the ladder from the wall? Answer
correct to one decunal place
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A peﬂutlon tower r45 metres h1gh 18 supported by wires
40 metres long. Each wire is attachéd at ground level 21

“metres from the base of the tower. How far from the top

of the tower are the wires attached‘? Answer correct to
4 81gmﬁcant ﬁgures

-

- The {square MNOP has chagona,l of length 18 cm

Calculate the-length of the side of the square correct tc
one deczmal place. - f
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A rectangle CDEF ‘hass length 20 cm and diagonal 25 cm
long. Calculate the width of the recta,ngle ‘
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o~ LMG is a rh@mbﬁs with: diagénais 24 cm andl() cm
N Galculate the keﬂgth of each. Slde of t}ae rhombus

Note The dlagozla}s of a rhombus b}sect each other ’
at right.angles.

< Al suies o:{ & 1hombus are ef equal length.

o

Calculate the value Qf X and henee calculate the length
y c01rect to thwee significant ﬁgures S
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A sail is to be cut in the shape of b right angled trzangie
If the longest side is 25 metres "and the shortest 7 m,
calculgt.e_ the length 91; the third side. s
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23. ABCDEFGH is a rectangular prlsm with AB = 9 cm,

H & BC =12 cm and CG = 20 cm. By first calculatmg the
; o length of the diagonal AC dalculatelthe shortest
| dlstance that Florrle the Fly must travel between A and
i a;‘:‘- . G E £ ] . 3an
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924, Consider the same ldiagram as'tfor :questioh 23. Harry the ant sets off frofw A '

C
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to meect Florrie at @. If Harry travels by the most direct route. how much
further-(if any) must Harry travel than Florrie?,

A section of rdilway line &C, 61 metres long rises by 11

- metres-between A and G. Calculaté the gradient of the

line.as a simple fraction.

_ RISE
Gradlent = RN 4

_AA——E_

PQR is a triangle on 'the_ diameter of the circle centre O,
The angle PRQ = %°. The radius of the circle, OR is

75 ¢m long. If QR = 9 cm, calculate the length of PR.:

PR
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'-é:j”:alc’:tﬂzé%éi%hggﬁerﬁngtér of the traﬁezium PQRS.
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A 12 metre ladder is to be placed against a wall tb reach:

"a wmdow 11 metres above the ground: How far from the

waﬁ must the foot of the }adder be placed correct to

A

one decimal place? R
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ABC is a trlangle right, angled at B. A se:[m—elrcle is. . .

drawn with-AC . as dla,meter Jf AB = 12 cm and
BC = 16 cm, ‘calculate the area of; “‘the Sem1~<:1rcle |
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POR isa tzla;ngle right angled a%: B i le’h‘fths

sides -PQ. QR and PR are F o, cprein - afid - § e
respectively. Semi-circles are drawn on each side’of i:he
triangle., Show that the sum of the areas of the sezm :
circles, A, can be expressed as A = zwp? :
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The roof of 2 house is in the shape of a triangle when
viewed from the side. If the Wldth of. theuh@use AB;JS
24 ra and the height of the ToGE. 18 8m},_.calcuiata “Fhe

.slant height BC of the roof It can be assumed that the

perpe:ﬂdicdlar height CD is in the cenire 6f AB,
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A surveyor makes this sketeh of a pa,ddock in his nete
book. The measurements are AR = 40m, BT = 10 m,
TC = 85m, DT = 17m, RB = 40 m. -Caleulate the
perimeter Df the paddock correct to the nearest. metre,
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From'second, A,
%+ 107 = 153

Loyt o= IBE - 10t
226 - 100
126

oy o= A/12h
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NH Tt third side be y m..

v T e
A Lyt =Rt -
=625 — 49 ¥
. = B78 il
O o= /\wﬂml
= 24
Third side is 24 m
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28. Consider H‘mogﬁ%m mr.wOU
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Let 4C = dem™" ww
Qm T Mm\s_x W.N EY ._..S. HE
=1 +8L
= 228 I
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Now consider AAGG
LetAG = % cm
LoxR o= g0 4 (B2 1
= 400 + 228
= B25 .
L ox = /628 '
= 25

Hhortest distance AG is wm e
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mm. HH§ the Ant “BFﬂ. cravl across the walls. To find the shortest route, fold ottt
the NET of the prism @m,i of it that we need) . .- =

.

. .. Shortest distance is #:m mﬁﬁmﬁ gm &mﬁq@g
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KRN S = 441 + 400 %
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sl op PR OROC, lzyE
) =29 o el a8l
, " 8hortest distamoe for Hariy is 29 e, Harrylg

- égtra distance =
c4r . Emrextrad e

20 — 25 = 4. H.Hmﬁ% travels
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Gradient = B N o et :
= WW , T, = ne .
Gradient of raftway line is & |
paade ol b N B
$ o .
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PO =D = OR Qﬁs& H_m%u» s
- I PO = 0Q = 75 cm
Then PG = 15em, ., .- et
ﬁmnww = 1cm _ ’ :
Rt 97 =180 b
12 = 182 ~ 9 o
= 228 — 81 -
= 144 I
Sl = oaf1dd A :

= 12
Y length of PR is 12 cm
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